DU-003

DU-002 (DU-001)

e

&~

~N &>~ = O O

o

® )

DU-002 (DU-001)
FLANGE SERVICE MANUAL
Mo3. Kon. Koa / Code HanmeHoBaHue Name
Pos. Qty
®naHel enuncoBraeH emaiinupaH komnnekT ¢ | Flange set elliptical enameled with copper
DU-002 (DU-001) MeaeH Harpesaten 1200W (2100W) n aHogeH | heater 1200W (2100W) and anode protector
npotekTop D22/26 L165 D22 /26 L165
1 1 DU-004 ®naHel enunca ¢ Tpbba 3a TP emainupaH 3a
roTomnsieM1 HarpeBaTenu
2 1 FM 72268-036 YNnbTHATEN NPOTEKTOP Gasket for anode protektor
3 1 ET-DU080-12 HarpeaBateneH enemeHt 1200W; 230V, Heating element 1200W; 230V;
(3a) (ET-DU080-21) (HarpeaBateneH enemeHt 2100W; 230V;) (Heating element 2100W; 230V)
4 2 IM 72385-046 YnnbTHUTEN 3a Harpesaten (Inocbk) Gasket for heating element
5 2 lanka M14x1,5 Nut M14x1,5
6 2 IM 72275-038 Brynka 3a Harpesaten (Ryton BR 111 BL)) Bush for heating element (Ryton)
7 1 FM 72268-050 AHoZeH npoTekTop h22/26 L=165 Anode protector b22/26 L=165
8 1 FM 72268-040 Brynka npoTekTop Bush for anode protector
9 1 [anka M6 Nut M6
10 1 LLlainba M6 Washer M6
11 1 [py*WHHa Lwarba M8 Spring washer M6
12 1 IM 72268-047 YnnbTHuTen 3a donaxey envncosuaeH HNBR | Gasket for elliptic flange HNBR
DU-003
FLANGE SERVICE MANUAL
Mos. Kon. Kop / Code HanmeHoBaHue Name
Pos. Qty
®naHeL, en1NCoBUAEH EMaNIMPaH KOMMIIEKT -
DU-003 33 cyxw HarpesaTern 1000W 1 aHogeH Flange set elliptical enameled for dry heaters
1000W and anode protector D22 / 26 L165
npotektop D22/26 L165
13 1 DU-005 ®naHel enunca ¢ Tpbba 3a TP emannmpaH 3a

Ccyxu Harpeeatenu 1000W




